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6RN\PRVL eYD

%66 %URNHU 6HUYLFH 6\VIHP

THIHVHIP pQ\HIV] i PRO1V

BIXFKIN ZiV]ly



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVI %XGDIRNL ~II

$IHQV] . IVIGIS  6]HUIEGE @I\VpJ  7ISXV  7DUID  7DUIDP  %L]W WV ~XID)pN
OE7<86 /E6=/T 6E1"25 3 *Sz )% *5$: (
GIURE1Q *DEUH)
+$56E1<, OES5. 3 wmoox *5% = (
625>, (5=6e%(7 3 *$o *x *5%: (
2/E+1e 6=3$%1 ("7 3 wmoox *5% = (
+(*("86 *E%25 3 *$o *x *5%: (
+$-"03e7(5 3 *$- )* *5% = (
BIXFKIN ZiV]ly
%(5.,)(5(1& 3 *$z )* *5%: (
%(5.,)(5(1& 3 *$o * *5%: (
*21"$ /E6=/T 3 *$zo* *5%: (
*21"$ /E6=/T 3 *$z )* *5%: (
3217(//, /T5E17 $C  *$- * *5% = (
3217(//, /T5E17 $C  *B: * *5%: (
*<25, -1T=6() $C  *$:- > *5%: (
6]DEy *p]D
+$% T .1e 1<,/$6 .$52/,1$ 3 *$: $ *5%: (
6]DEy ,PUpQp
71 7+1e 6=8&6 *$%5,(//$ 3 *Sz )% *5$: (
6]RNH $IiliQp
6=e.(/<, (5,.% 3 *$z )* *5$: (
6]RNpQp OpV]ilR
/251&=1e 6=2.( +$-1$/.$ 3 xmoox *5$: (
.(&6.€6 $77./% 3 wm ook *5%: (
/25,1&= 7$0E6 3 xmoox *5$: (
6=2. (%$/E=6 3 xmoox *5%: (
*2579% %$5%$5$ 3 *Eoo* *5%: (
6]RNpQp 6]DEy 6
.(5(6=7(6/",.T 3 *TI oy *5$: (
1e0(7+ /E6=/T1le 3 *Bz % *5%: (
7DNiFV (Gl $QQ
.(5(-(61,.2/(77 3 *mco- *5% = (
.LW /DIRV 5RIDQG 3 *$: )* *5% - (
.(5(.(6%75,(11 3 xmoox *5% = (
(5" ( O,+E/< 3 *$zo* *5$: (
%2-1 6,021 .25 *$:- * *5%:(
51.%$e9%$ 3 *$o * *5%:-(
3RIJiU 6iQGRU $C  *$:z > *5%: (
7DUWVRI ZiV]ly
(UGHIQp 7DPDVNy . DIDIQ ( 3 *$z % *5% = (
7DUVRI\ =RUITQ
%25 $11% 3 *$:- $ *5%:(
7DIiU OINIyVQp
+$-1%/ %e/$ 3 *$:- $ *5%$: (
7HHN =R0ITQQp
6=$5.$$/(;$1"5% 3 *$z " *5%$: (
9=, OE5$ 3 *$z )* *5$: (
717+ 7$0E6 /$-26 3 *$z )* *5%: (
%(5el<, -8",7 3 *$- > *5%: (
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(/0L %$//$< $1,.T +$11 3 *$z )* *5% = (
6=$59%$6 ) (5(1&1le 3 *$z )* *5$ = (
6=$59%6 ) (5(1& 3 *$z )* *5% = (
&6E., =68=6$11% 3 *$z )* *5$ = (
&6E ., =68=6$11% 3 xeoox *5% = (
%$7+T (5,.$ 3 * o ox *5$ = (
7$.E&6 /t9,$ 3 *$z )* *5% = (
+$0%$51e - 29E&6 $75,(11 $C  *Tz * *5$ = (
129E. ,679E1 3 xeoox *5% = (
1.3, %e/$ 3 *$z )* *5$ = (
+$0%$51e .29E&6 $75,(11 3 wwoox *5% = (
(/O %$//$< $1,. T +$11 $C  *$:- )* *5$ = (
%86,1e 6=8&6 (6=7(5 $C  *T:z * *5% = (
%86,1e 6=8&6 (6=7(5 $C  *$:- )* *5$ = (
%$"T 3e7(5 $C *$: )* *5%: (
%$" T 3e7(5 $C  *Tz * *5$ = (
7pVL $QQD OiUD
78*<, /$-26 3 *$:- $ *5$ = (
7RIQDL (UND (U
72/1%,=7$ 3 o % *5$ = (
72/1%,=7% 3 *= - % *5% = (
7 JUFVY iUl =VRIN
795&69E5,1e *<T1, 0$5,$11 3 *$- )* *5% = (
%E*<, =2/7E11le 3 *$z )* *5%:-(
7]UIN (UND
S5E&= *E%25 3 *$z * *5$ = (
+$-0 &6$%$ 3 *$z )* *5% = (
7RVpU &VDED
.DIRQD ,(GINy eYD $C  *B:- ¢ *5% = (
7ylIK SyEHUI *\]
9E5+(/<, 7,.%25 ,679E1 3 *$- * *5% = (
8YDFVHN &VDED
%81 -E126 3 *$:- % *5% = (
.29E&6 %e/$ 3 *$z )" *5$ = (
89386(.1e $5,=68=6$11$ 3 *$z )* *5% = (
89%86(. .5<67<1$ "$187%$ 3 *$z * *5% = (
8YDFVHN .U\VINQ
.5,9E1,. )(5(1&1e 3 *$z )% *5$ = (
.5,9E1,. )(5(1& 3 *$z )% *5% = (
.5,9E1,. )(5(1&1e 3 *$z % *5$ = (
.5,9E1,. *E%25 3 *$:- % *5% = (
9LQF]H )HUHQF -
3(75,. &63%$ 3 *= - % *5% = (
717+ 7$0E6 3 *$z )* *5$ = (
AT, %e/$ $C  *$:z > *5%: (
AT, %el/$ $C  *Bp:- > *5%:(
=DJ\YD =RUIiQ
%2=61 =62/7 3 o % *5$ = (
1$*< %5,*,77$ 3 *= - % *5% = (
=DJ\YD =RWiQQp
*g0g5, 7h1-( 3 *$z % *5%: (
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9(5(69,.715,% 3 *$z * *5%: (
+(*("86 (5=6e%(7 3 *$o * *5% - (
%$1.$ %e/Ele 3 *$z  * *5%: (
32=621<,1e . (/(O(1 O$*"2/ 3 *$o * *5% - (
_RYiFV Oillp 3 *$:- )™ *5%:(
/E6=_$$77,/% 3 wmoox *5% - (
%yGRU VIYiQQp $C  *$B: ) *5% = (
-RPXYHV -iQRV $C  *$- * *5% = (
"El<, OE57$ $(C *$:- )™ *5%:(
gVVIHVtIHI pUipN
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EFV &VDED 7DPiV
6=2//26, .E52/< 3 *$: )™ *5% - (
$PEUXV 9DUJID -y
)$5.$61e 6=2.( 7h1"( 3 *$: )(& *5% - (
0,=6(, O(/,77% 3 *$: (& *5% = (
$O%586 9$5*$ (/,=$ $C *B: (™ *5%: (
*DUD .V -~ID $C  *$: (¢ *5% - (
“DJYDGRUI %D\DU
1$*<le /E6=/T (5=6e%(7 3 *$:- (& *5% - (
" ORIQiU $QQD
1$*< 51%(57 3 *$- (" *5% - (
(OHN =\ ] QJ\YpU
.29E&6 6E1"251e 3 *$:- (" *5% - (
12", %E/,17 3 *$: )™ *5% - (
ell *DEUHID
%I=6T1e /,386( $1,.T 3 ="z (& *5%: (
+DIGXQp %RUEPQ\
+$-"81e %25%el<, /(1.( 0% 3 *= - (" *5%: (
-LVSi0) SyEHUI -
.2W6 %5,*,77$ 3 A G *5%: (
-RUWYV SyEHUI
.218&= *E%25 3 ** - (& *5%: (
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/HQI\HIQp &VHIH
6=%$%11le 32&6%-, €9$ 3 **: (& *5$ = (
0%$-25=2/7E11e 3 *": (& *5% = (
OiUIRQ (UJVPEHI
0e6=E526 *<gl*<, 3 *$:-  (* *5% = (
ODIN\Ny eYD
6=%$.E&6 3e7(5 3 *$z (* *5% = (
1DJ\ -DPSHU Up
1$*< *E%25 3 *$:-  (* *5% = (
=6f5261e O(~*<(6,E*1(6 $C  *B:- ) *5$ = (
=6t526 -1=6() 3 *$z ) *5% = (
1pPHIK -RUQpID
.1E% O,+E/< 3 *": (& *5% = (
6iQID OKiN
"8"E6 "E1,(/ 3 *$z ) *5% = (
"8"E6 "E1,(/1le 3 *$:z ) *5$ = (
6]HNHUHV OyQIND
6=(.(5(6011,.$*=(//$ 672 *": (* *5$ = (
6=(.(5(60T11,.$*=(//$ 3 *$z  (* *5% = (
7HHN =R0IiQQp
"2%529,761e O,6E. ,5el 3 *": (& *5% = (
=DJ\YD =RUiQ
"El<, OE57$ 3 "z (& *5% = (
=DJ\YD =RWiQQp
02598, %5,*,77$ $C  *T: *5% = (
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